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Graph th following\functions:
1. §=—5x"chsx [ 2. y=3krsinm
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7. Giventhat f(x) =x+ 1and g(x) = COS T,
graphf(g(x)) =005 X ,.;‘-.
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8. Given that f(x) =3x—4and g(x)=2"" 4
graph f(g(x)).- “(Z” =R ) -y
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For each graph below, write the function graphed and them write the function as a composition of two functions.
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Function graphed:

Composed functions;

k(®) = f(g(x)
fo=-_ x| =3

o N
sw=_(x=-N)+&
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3 Function graphed: rﬁ'n TX l + Z‘
2 Composed functions;
k(x) = f(g(x))
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Evaluate each composition using the following functions:

f(x)=5x—4 gx)=—-x*+3 h(x) =vx -3
11, f(g(h(12))) 12. (ho g o £)(~2) 13. g (h (f (%)))
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Given the following equations, answer the questions & Uz "—2_; /
m(x) = 1000 c(x) = lxﬂ w(x) = 60 - (x_ﬂl—sla%ﬂ_ﬂ) a(x) = 4x + 100 p(x) =30cos(x+ 1)
14. Find m(a(x))when¥= 12 | s
U\(IZ}) m(]%@" 000
15. Compose c(p(x)) |
e TR SO
Cle)) = - |
g ) 20 cos(x+1)
16. Find w(c(p(2)) & 150 = ' SO O
| :  SRRE T o 1" ¢ 53
o (L; (30cos 3)) =2 W (“"_30 3}: @O 30083
Seses 120 cos(x+1)+100 ! SC)O

17. Which composition creates the function, t(x) = 1000

18. Your computer's screen saver is an expanding mrcle he C|rc|e sgarts a dot in t>>m|ddle of the screen and
expands outward, changing colors as it grows. With a twenty-one inch screen, you have a viewing area with a 10-inch
radius (measured from the center diagonally down to a corner). The circle reaches the corners in four seconds.

Express the area of the circle (discounting the area cut off by the edges of the viewing area) as a function of time t in

seconds. - = -1 L IO
A(\") = Al‘ﬂ(\ 2 /t) o 5’ 1+
e 2
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19. In the mail, you recei\.rL a coupon for $ off of a pair of jeans. When you arrive at the store, you find that all
jeans are 25% off.Let x represent the original cost of the jeans.

L

Write a function, f(x), that represents the effect of your original coupon. C()() B K= S’
Write a function, g(x), that represents the effect of the 25% discount at the store. q (,” . ?f? X
c.  Write a function, h(x), that represents how much you would pay if you use the mail ¢ coupon first

followed by applying the discount from the store{,{x) (*(:CX)) I 5 ()( S‘
d. Write a function, j(x), that represents how much you would pay if you use the store discourit first,

followed by the mail coupon. (X) = (C (X) *: 73"X S S"

e. You find a pair of jeans fo How much would you pay for |t using both functions h(x) and J(x). If you
only have $40 with you, what’s the most expensive pair of jeans you can purchase? (do not consider

=36 | HO = Wx) = tio- 75(x-~5‘
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Vol o TR E B 40=3y(x)= = wO- A5X =24



20. Given the following functions, find a composition of functions with each feature listed below.
a(x) =22, b(x) =log, x, c(x) = |3x|, d(x) =2x%+4, e(x)=x—4, f(x)=x2+5x—4

x=2'
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A composition of functions with a range of [32, ©) ‘f\((f\(,&)}f (2%~ @) S (€x ) L"Z i
e . , § i g 1o 2(}*"‘""1 L
A composition of functions with no roots A, (d b‘))_, ‘Q(L\(PO‘) . o +
A composition of functions with an asymptote at x = 4 b (\t(\X))
A composition of functions with end behavior: As x — oo, y = 1.

A(e.(x))

21. Given f(x) =2x —3, g(x) = x?—2x, and h(x) = —5x. Find g (f(h(x))). :
) = 5%) -3 = ~10x=5 y ($( \’1{"")))'; (rox-3) = 2(10x 5>
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22. Given f(x) =2x*—9x?+x+ 12, g(x)= 2x-3, and h(x)=x+1. 1005+ (0% -+ 9+ 20X ’E{//;L
o Fndg) —f0) _ 2x-37(2x>-Ax"4 x +12) = 100%  + RUX + \S‘L

b. Find g(x) - h(x) = \‘w-z—,g?i _,_q.x'l'_‘_ X 'ﬂ 6_\
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23. Given: | =4 g il '.C'(JjU(-)>" ?CL' drg 5 1
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Graph the following: :
da. f(g(x)) S ) R Y e e & T b I E
b. ‘(f + g !!x) 1] /r-_‘»\ TN
c. f-g(x) v, Pl
. ¢ G
, a4 Cod5 28 \ O i
NIy e ZA=FF G NGk T AT z
(Frq00 = 7 P (G009 = (x-leasT
L. ¥ 1N ¥ \ -
b. : & 7 :

B T
-1 T T
3 | NEEFN |
PYNEFYEESSE: _
Ak [N Emmmm i @\,'\
! I T INN T I |
I 1 "T Jl 7 := i & L
\ of 7

.
p ]
~
-‘ \
‘—)



